ve)
Q

O 40° @ 45° @ 50° @55° ® 60°

Lx = (180° — 70°) + 2 = 55°




ohg 297 2 AABC oA B = € A
— 1 Loy ///—
o, AC 9] Zol&=? 5cm
I/l
° S~~7em--"
@ 4cm @ 4.5cm 3)5cm
@ 5.5cm ® 6em

AABC 7} o] 54z ol n.




3. & 199 AABCO|A AB = AC, /BAD = /CAD ¥ u, CD 9

Zolet LADC 9] 27]E ook

A

>
>
> MEl: CD=7 cm
>

e /ADC =90 °




4.

ohe 1983 22 AABC |4 AB = BC ¢
o, x o gh2?

® 35 @ 4 @ 4.5 @)5 ® 5.5




e

Q120 AABC ol 4]

(ABC = /ACB°]|22 AABC: o|5H Az o]t}

SLox=8

T, Q2Z0] AABC A

(BCA =180° - (30° + 75°) = 75°0] 2 & AABC = o|5H A}
Z}gg ot

. x=10

s (x9] dol 3H)=8+410 =18

oflh




a o T Aoz Y

AABC °JlA
(C=180°—(38°+71°) =71°
watA] AABC = o] 5HA Y
~“AB=AC=6+a




th& I13ellA AABC = AB = AC Q1 o] 5z golth. M D, E, F
£ 27 BC, AC, AB 919] o], CD = BF, BD = CE, /A = 40°
< o, /FDE ©] 27]& -5zt

A
/

i
Q

\VARR 4
0
i

70 °

~&B ~

AB=AC o2&

/B=/C= % x (180° — 40°) = 70°
¥, CD=BF, BD=CE o2&
AFBD = ADCE (SAS %)
otA g7 o=

(BFD = +CDE, /BDF = /CED
(FDE 9] 37]E x & 5}¥

x+ £CDE = 70° + /BFD ©]1
/BFD = /CDE °|2&
~x="70°

. /FDE = 70°




8. T 2™A x o] ZolE Fshoizt

(ACB = 70° °|E2 AABC & ©]5HA4Z g oIt
s x=4(cm)

ofl




a2 TAB = AC §l o] 5 ¥4 Y ABCO F 27 £
o5 A LS et otH APBCE o] gz el
g olrt.
A
B& =C

AB=ACo|E=&

(ABC =| (7}

(PBC=| (&) [/ABC, /PCB=| (4}) |cACB
L)

Z, APBC 9] ¥ Wzte] 3717k genz | (2h |eloh

@ @) ,ACB @(LB?
® () /PBC = /PCB @ @) PB="PC
® @) aAPBC

~&B

AB=AC o2&
(ABC = (£ACB)

(PBC = (%)AABC ,

(PCB = (%)AACB
.. (¢PBC = /PCB)

wabA (aPBC ) o] 5 aZIgoltt,

=, APBC 9] F WZte] 27|17t o8z (PB = PC ) olth.




10.

t}. /BAC = 70°

® sABC @)/ACB ® (EAC

ZolE Aoz /BAC = /DAC = 70° o]t} /DAC =
(ACB (%1Z}) o]t}
wrabA] /BAC = /ACB o]t}




11. Fol mE o5 I3 2ol HAE W, 2x o] 27]E F5hod=h

@® 40° @ 50° ® 60° @ 65° ® 67°

A 27 A7) 37k BE gonz

wHebA] zx = 180° — 65° X 2 = 50°




12, o5 382 B=/CAHAFABCEHATAHCO =5
-2 Aolth, /DCB = 25° &4 1, /A 9] 27|& 5oz},

> = :
> =g 0.
=-

. o ‘

/A = /x 2} S}

(DCE = /A = /x

/(B = /C = /x+25°

AABC ©of|A Al WZte] 3719

x4 2(£x + 25°) = 180°
130°

)

F2 180° o]B &2

ol

3/x =130°, /x

_130°

LA
3




(D)AB =D (@) /ACB = /FED
® /ABC = /FDE @ BC =DE

@G)Ac-FE

@ AB = FD (H) @ /ACB = /FED (R) ®AC = FE (S)
Z RHS &5




(h

® (¥h)45 °

@(UP)?)O °

@ (o} 60°

@ (7}) 15°




15. F #7429 ABC, DEF 7t th -3 22 W, x +y o #427

O 12 @ 36 3®)42 @ 48 ® 60

AABC, AEFD + RHA &% ©o|BE&
BC =FD = 12cm = xcm , £y = £CAB = 30°
SLx+y=12+30 =42




16.

t}S 183} 242 AABC ¢ ADEF 7} 3§59 o, DE <] Zo|9} /D
o] 2715 Fstoiet.

D

- DE=4cm

. /D=30"°




17. o2 I%A APB 9] 27]= 2

70°

@ 20° (@)40° ® 80° @ 90°

® 140°

APAO = APBO (RHA &%)0]22
/POA =170°
. LAPB =40°




ACAE 2

@AABD

ACAE & 5=

@ AABD

® (DAB = /ECA

@ (DAB+ /EAC =90°

® DE="7

J

AC, /D = /E = 90°, /DAB = /ECA ©|2=2 RHA




19. o=

o 7oA AABC = /A = 90° ] AB = AC ©] ZzFo]| S A
Z-goltt. &= A4 B,C oA A A E A= i

72} D,F 2 @ ul, AABD o] YolE Fajolet

> = cm
> yg 15 cm?
2
AADB = ACEA(RHAES) o|E2

AD =CE = 5(cm)




sholat,

g7

/x 9] A7)

Ho

Tol

ul
)

60 °

il
)

T
o

ke
H

Zo](S )7} Zon 2 RHS
. Lx=90°-30°=60°




21. th2 ZAHE ABCD ©|A AB : BE=? A_--l0em--__p

D1:2 @ 2:3 ® 3:4 4em
B D C
@4:5 ®1:1

~&B ~

AABE ¢} ADCE ©f|A AB = CD ©]1, /B = /C = 90°,
AE =ED o] &

AABE = ADCE = RHS &-5°|t}.

w2t BE =EC =10+2 = 5(cm) © /22 AB: BE=4:5
ojrt.




22. thg 1 go| A2

g it=lan! A
ACe] W& 4e] dro] Eoj1 BD = ED ¢

(x 9] A7)& Foteet,

>
> HE: 60°

30°

ACDB ¢} 2718 ACDE = RHS g-5-o|t},
/x = /CDBO|BZ /x=60°




RS
do
lo
ot

2

23. 22 /XOY 9 o]5E S
, OY o Y&l =49 drs Z+24A, B
Yot Y olth. O~@9d 014 7

[718]2AOP = (@),

(PAO = /PBO = 90°

28] (0)=(©)

[ H]aPOA 2} APOB ©f| 4

(AOP= (@) @

(@®)=36©®

/PAO = /PBO =90° "+ ©

@, ®, ©°f 2514 APOA = APOB (( ® ) &%)

L(O©)=(0)
O @/BOP @ ©OPA ® ©PB
@ ®@0P ®)@SAS

APOA = APOB & /AOP = /BOP, OP & &%, /PAO =
/PBO = 90° 0|22 RHA ¥&-=o|t},




